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={a+(—=b)+c} x{@+(=b)’+c*—ax(—b)
—(—=b)Xc—ca}

=(a—b+c)( &+ +*+ab+bc—ca)




11 (x—y—2)(*+y+ 2+ xy—yz+2zx)

r—y*——3xyz

=2+ (—y)’+(—z2)°—3xxx(—y)x(—z2)

={z+(—y)+(=2)} x {2+ (—y)"+(—2)"—xx(—y)
—(—y)x(—z)—(—2)xz}

=(x—y—z)(Z+y'+2+xy—yz+zx)

12 (2a+b+c)(4a’+ b+ c*—2ab—be—2ca)
13 (2l—m+n)(4P+m’+n*+2lm+mn—2nl)

14 (£*+3x+9)(x*—3x+9)
'+ 9r°+81=x"+ " x 3°+3*
=(2"+3x+9)(2"—3x+9)

15 (@*+2a+4)(a*—2a+4)
a‘+4a’+16=a'+a’x 2°+2'
=(a"+2a+4)(a’—2a+4)

16 (252*+5x+1)(252°—5x+1)
625x'+ 252" +1=(5x)"+ (5x)*x 1°+1'
=(252°+5x+1)(252°—5x+1)

17 (4m*+6m+9)(4m’—6m+9)
16m"+36m°+81=(2m )"+ (2m)*x 3°+3"
= (4m’+6m+9) (4m°—6m~+9)

18 &) (9p°+15pg+25¢°) (9p*—15pg+25¢7)
81p'+225p°¢*+625¢"
=(3p)"+(3p)"x (5¢)"+ (5¢)"
=(9p°+15pg+254°) (9p°—15pq+25q°)

19 (1) (a+b+c)?
2 (a+b+ec)(a®+b°+c’—ab—bc—ca)
3) (’+ab+b*) (a’—ab+b)

26 X|ZHE o273t ol > p.66~67
01 & (z+2)(x—2)(2*+1)
=Xz Eow
x'—3r"—4=X"—3X—14
=(X—4)(X+1)
=(2"—4)(2*+1)
=(x+2)(x—2)(2*+1)

02 @ (z+1)(x—1)(2*+2)

r=Xz2xowy

Ot —2=X"+X—2
=(X—1)(X+2)
=(2"—1)(2*+2)
=(zx+1)(x—1)(2*+2)

03 & (z+1)(z—1)(2*+1)

r=Xz2 oy

x'—1=X"—1
=(X—-1)(X+1)
=(2*—1)(2£*+1)
=(x+1)(x—1)(2+1)

04 & (x+1)(x—1)(x+2)(x—2)

05 (x+3)(x+1)(°+4x+2)
(x+2)=X2Eod
(x+2)'—3(x+2)"+2

=X*—3X+2

=(X-1)(X-2)

={(x+2)"—1} {(x+2)"—2}
={(x+2)+1} {(x+2)—1} (£*+4x+4—2)
=(x+3)(x+1)(*+4x+2)

06 a(a+2)(a’+2a—1)

(a+1)=XE=oH

(a+1)'=3(a+1)*+2=X"—3X+2
=(X—-1)(X-2)

={(a+1)*—1}{(a+1)"—2}

=(d"+2a)(d’+2a—1)
=ala+2)(a’+2a—1)

07 & (z+y)(x—y)(x+2y)(x—2y)

=X, =YY= goH

=52+ 4y = X"—5XY +4Y*
=(X—-Y)(X—4Y)
=(2'—y") ("~ 4y")
=(z+y)(x—y)(x+2y)(x—2y)

08 & (x+2y)(x—2y)(x*+2y°)



09 & (z—1)(x—2)(x’—3x+3)

r—3r=X2EoH

(2*=3z) (2’ =32 +5)+6=X(X+5)+6=X"+5X+6
=(X+2)(X+3)
=(2"—3x+2)(2"—3z+3)
=(z—1)(z—2)(2’—3x+3)

10 & (z—2)(z+1)(z—3)(x+2)

r—x=X=Z2¥ow

("—x)("—x—8)+12=X(X—8)+12
=X"—8X+12
=(X—-2)(X—6)
=('—xz—2)(*—x—6)

=(x—2)(z+1)(x—3)(x+2)

11 (a*+5a—2)(a’+5a+8)

d+5a=X=2 oW

(@+5a+4)(@+5a+2)—24=(X+4)(X+2)—24
=X"+6X—16
=(X—2)(X+8)
=(a*+5a—2)(ad*+5a+8)

[cH2 Eol]

ad+5a+4=X= Fod

(@+5a+4)(d+5a+2)—24=X(X—2)—24
=X"—2X—24
=(X—6)(X+4)
=(a*+5a—2)(ad*+5a+8)

12 & (a*—2a—1)

dA—1=XZ o

(@*—a—1)(a"—3a—1)+a'=(X—a)(X—3a)+a"
=X"—4aX +4d’
=(X—2a)=(a"—2a—1)"

13 & (x—1)(x—3)(2+22+3)

r+3=X=2 god

(£+x+3) (" —3z+3) —525°= (X +x) (X —3x)—52
=X*—2xX—8x
=(X—4x)(X+2x)
=(2'—4x+3) (2" +22+3)
=(x—1)(x—3)("+22+3)

14 (z+4)(x—1)(x2*+32+6)
z(x+1)(x+2)(x+3)—24
={zx(z+3)} {(x+1)(x+2)} —24
=(2’+3x) (2’432 +2)—24

r+3x=X=2Eod

X(X+2)—24=X"+2X—24=(X—4)(X+6)
=(£+3x—4)(*+32+6)
=(z+4)(x—1)(2*+32+6)

15 (x+3)(x—2)(2*+x—8)
(x—1)(x—3)(x+2)(x+4)+24
={(z—1)(x+2) {(x—3)(x+4)}+24
=(2+z—2) (2" +x—12)+24
r+r—2=X=zZ¥ow
X(X—10)+24=X"—10X+24=(X—4)(X—6)
=('+x—6)(2*+x—8)
=(xz+3)(z—2)(2"+2—8)

16 @ k=7

x(x+2)(x+3)(x—1)+k

=(2"+2x)(*+22—3)+k

oA ¥’ +2x=XE2 £ X(X—3)+k=X"—3X+ko]|1L,

o ol#4jo] riAF ol k=(—5 ) =5

+3Jp
OIRHA 2+ axr+ b7} SHEIKIZ BOJ=EH

2+ax+b= <x+%>20 [ =EWE <%>2

17 & k=1
(x—2)(x—1)(x—3)(x—4)+Fk
={(z—2)(z—=3)} {(z—1)(z—4)} +k
=(2’—5x+6)("—5x+4)+Fk

A F’—sr=XE EoH
(X+6)(X+4)+-k=X"+10X+24+k0]| 1,
o] o]x}a]o] SHHA|F HoleH

24+k:(170>2, Utkh=25 k=1
18 & k=9

(x—2)(x—1)(x+4)(x+5)+k
={(x—2)(x+5) {(x—1)(x+4)} +Fk
=(2*+32x—10) (£ +3x—4)+k

NA 2’ +3rx=XZ FoH

(X—10)(X —4)+k=X"—14X +40+ ko],
o] o|z}4lo] bAA|E Fol=H

_ 14

4o+k:( -

2
),40+k:49 =9

19 = 388 @




27 SOIXtAlL| Q126K > p.68

01 & («’+b°)*
d=XEEoq
X420’ X +0'=(X +b")’=(a*+b*)*

02 & (a’+1) 03 & (2*+5)°

04 & (a+2) 05 & («°+3)°

06 (2 +x+5)(x*—x+5)

2'+9r°+25=x"+102"+25—2°
=(2"+5)"—2
=(+x+5)(*—x+5)

07 (a*+3ab+5b") (a’—3ab+5b%)

a'+a’b’+25b'=a'+10a°b*+ 250" — 94’
=(a*+5b%)"— (3ab)*
=(a*+3ab+5b") (a*—3ab+5b")

08 & (4x’+2xy+y’)(4x’—2xy+y°)
162 +42%/ +y' =162 +8xy +y' — 4™y’
=(42"+y")’ — (2xy)’*
=42+ 2xy+o7) (42°— 22y +47)

09 (a’+a—1)(a*—a—1)
a'—=3d+1=da'—-24*+1—d’
=(a—1)'—a’

=(a’"+a—1)(d"—a—1)

10 (1) xIg () *=X, 228l (3) (2*+A4)°

28 5 7H OJAte| BX}7} EBHE| Alo| O] A HH

— [

01 & (z=3y+1)(x—y+2)

T4 ol thste] WAke o= gt 3 QlpEafstd
2 —Axy+ 3y +3x—Ty+2

=2"— (4y—3)x+ (3’—7y+2)
=x'—(4y—3)x+(3y—1)(y—2)
={x—By—D}Hax—(y—2)}
=(z—3y+1)(x—y+2)

48 g2y

02 & (z—y—1)(x—y—2)

B2} zof| gk YEajeo s Aest 5 ol2Eashd
2’ +y'—2xy—3x+3y+2
=2'—(2y+3)x+y’+3y+2

=2'— (2y+3) 2+ (y+1) (y+2)
={z—(y+D}Ha—(w+2)}
=(z—y—1)(z—y—2)

03 & (z+y—3)(x+y+1)

A 2ol thste] WAk 2 et & Qg-Eslistd
2 20y —20—2y—3

=2+ (2y—2)x+y"—2y—3

=2+ (2y—2)x+(y—3)(y+1)
=(x+y—3)(zx+y+1)

04 & —(a=b)(b—c)(c—a)
A7 3 22t ol thote] WiAke o2 et &
==k
ab(a—b)+bc(b—c)+calc—a)
=a’b—ab’+b’c—bc*+cla—cd’
=(b—c)a’— (b*—c*)a+bc—bc’
=(b—c)a’—(b+c)(b—c)a+bc(b—c)
=(b—c){a"—(b+c)a+bc)
=(b—c)(a—b)(a—c)

—(a—b)(b—c)(c—a)

05 & (a=b)(b—c)(c—a)

A7 3 22t ol thote] WiAke o2 gt &
Q12-Hapshd

a(b’—c")+b(—a’) +c(d—b%)
=ab’—ac*+bc*—a’b+a’c—bc
=(¢c=b)a’"—(*—b)a+bc(c—b)
=(¢c—b)a’—(c—b)(c+b)a+bc(c—Db)
=(¢c—b){d"—(b+c)a+bc)
=(c—b)(a—b)(a—c)

=(a—b)(b—c)(c—a)

06 & (a—b)(a+b)(c+a)

A7 7P W B4 cofl st
iAoz A3t 3 dg-Esfshd
a—ab’—bc+adc=(a"—b)c+alad’—b")
(@—b*)(c+a)
(a—b)(a+b)(c+a)



07 (a—2)(a—b)

Ap7t 7V 2 24 bl ehate]

Yoz Aelet 3 QsBalsta

a—2a—ab+2b=—b(a—2)+ala—2)
=(a—2)(a—b)

08 (a+b)(a—b+ec)

Ap7h 7P e B} ool Histod

WeReo g2 g3t = a=Hafjstd

a+ac—b+bc=cla+b)+a’—0b"
=c(a+b)+(a+b)(a—Db)
=(a+b)(c+a—>b)
=(a+b)(a—b+c)

09 = ()W (2) %2, ek

» p.70~72

01 & P@)=(xz—1)(x—2)(x—3)
P(1)=1—6+11—6=0
1|1 —6 11 —6
1 -5 6
1 -5 6| 0
S P(x)=(x—1)(z"—52+6)
=(x—1)(x—2)(x—3)

02 & P(x)=(x—2)(x+x+3)
P(2)=8—442—6=0
211 -1 1 —6
2 2 6
11 3 0

SoP(x)=(x—2)(2+2x+3)

03 & P(x)=(x+2)(x’—z+1)
P(—2)=—8+4+24+2=0
-2/1 1 -1 2
-2

2 —2
1 —1 1@

S P(x)=(x+2)("—x+1)

04 & Px)=(x—1)(2"—22+2)
P(1)=1—3+4—2=0
11 -3 4 —2
1 -2 2
1 —2 2‘;0

S P(x)=(zx—1)(2*—2x+2)

05 & P(x)=(z+1)(x—2)(x—3)
P(—1)=—1—4—1+46=0
~1]1 —4 1 6
~1 5 —6
1 -5 6] o0

L P(x)=(zx+1)("—5x+6)=(x+1)(x—2)(x—3)

06 & P(x)=(x—2)(x+1)(x+3)
P(2)=8+8—10—6=0
21 2 -5 —6
2 8 6
1 4 3 0

S P(x)=(zx—2) (" +4x+3)=(x—2)(z+1)(x+3)

07 P(x)=(x—1)(x+1)(z°+4)
P(1)=1+3—4=0

111 0 3 0 —4
1 1 4 4
—1l1 1 4 4] o
—1 0 —4
10 4] 0

SoP(x)=(x—1) (242" +4x+4)
=(z—1)(z+1)(2"+4)

08 & P(x)=(x—1)(z*+2*+x—6)
P(1)=1—7+6=0

1,1 0 0 —7 6

1 1 1 —6
1 1 1 —6 0

S P(x)=(zx—1)(+2*+x—6)

09 P(x)=2x—1)(x*+x+1)
AT o

2 1 1 —1

11 1
2 2 2| 0

s P(x) :<x—%>(2x2+2x+2) =(2x—1)(L*+2+1)

I1-3e4es 49




10 & P(x)=(x—2)(22x+1)(x—3)
P(2)=16—36+144+6=0
212 —9 7 6
4 —10 —6
2 -5 —3] 0
SoP(x)=(x—2)(22°—5x—3)
=(x—2)(2x+1)(x—3)

11 P(x)=(x—1)(2x—1)(x+2)
P(1)=2+4+1—5+2=0
1|2 1 —5 2
2 3

—9
2 3 -2 0

SP(x)=(x—1)(22°+3x—2)=(x—1)(22—1)(x+2)

12 P(x)=(2x—1)(2x’+x+1)

1\ _ 1. 1 ._
P<7>—2+2 1=0

4 0 1 —1

2 1 1
4 2 2| 0

o P(x) :<x—%>(4x2+2x+2) =(2x—1)(22°+2x+1)

13 & P(x)=(x—1)*(2x’+4x+3)
P(1)=2—3—2+3=0

12 0 -3 —2 3
2 2 —1 -3
12 2 -1 =3] o
2 4 3
2 4 3| 0

SLP(x)=(x—1)(22°+22"—x—3)
=(z—1)%(22°+4x+3)

14 P(x)=(x—1)(22°+22*+2x—3)
P(1)=2—5+3=0
12 o o0 —5 3
2 2 2 =3
2 2 2 =3 0

SoP(x)=(x—1)(22°+ 22+ 22x—3)

15 & a=—1

k] flx)=r'—2x+a7t x+12 Q-2 7R EE
f(=1)=0

—1+2+a=0 Soa=—1

16 a=4 17 a=1
18 & a=—21 19 & a=-6
20 & a=0

21 @ a=32

Lo qzz sixma

3t flx) =x*+ 2" +tax+47} 2+

2
1)\ _
(=)=
1,1 1 -y 1 33 . _33
_8+4 2a—|—4—0, 5a=""7g Sa==y

22 &) 1) =4 2) fx)=(x—2)(x+1)(x—3)
1) 9334 flz)=2"+ax’+2+69 A7t x—20|B2
f(2)=0
8+4a+8=0, 4a=—16 Soa=—4
2) 2HAHE o835t
211 —4 1 6
2 —4 —6
1 -2 -3 0
s Axe) =24+ 6=(x—2) (2" —22—3)
=(x—2)(x+1)(x—3)

23 & 1) =8 2) flx)=(x—1)(2*~7x—6)

1) oA flx)=2"+ax’+x+69 Q457 r—10]282
f(1)=0, 1+a+7=0 Soa=—8

2) 2GAEE o83t
111 —8 1 6

s fle)=2"—8x"+x+6
=(x—1)("—72x—6)

24 1M1 2) flx)=(x+2)(x*—x+3)
1) o flz) =z"+ax’+2+69] A57} x 420122
f(=2)=0
—8+4a+4=0, 4a=4 Soa=1
2) 2YAHE ol&std
—2 11 1 1 6
—2 2 —6
1 —1 3 0

)=+ 2+ x+6
=(x+2)("—2+3)

25 & (1) fle)=0 @xr—e @)x—0a



30 OlyEdHol 28 » p.73~74

01 800

54°—46°=(54+46) (54—46) =100 X 8 =800

02 3400

67°—33°=(67+33)(67—33) =100 X 34=3400

03 = 600

51°+52°— (48°+49°)

=(51"—49°) 4 (52°—48%)
=(514+49)(51—49)+(52+48)(52—48)
=100 X 2-+100 X 4=200+400=600

04 9600

PV=x=2 EoH

99°—2 % 99—3=x"—22—3
=(z—3)(x+1)
=(99—3)(99+1)=96 x 100
=9600

05 1000000

97=a2 EOH

97°4+3 X% 97° X 3+3 x 97 X 3°+3°
=a’"+3xXa’x3+3xax3"+3°
=(a+3)’=(97+3)°
=100°=1000000

06 1000000

103=a2 o9
103°—3x103*x 3+3 % 103 x 3’>—3°
=a’—3xa’x3+3xax3"—3
=(a—3)’=(103—3)*
=100°=1000000

07 501
502=z2 =W

502°—1 _ 2'—1 _ (z—1)(2’+x+1)
502°4-503 '+ x+1 24+l

=x—1=502—1=501

08 1019
1020=x2 EoH

1020°—1 _ Z*—1 _ (x—1)(+zx+1)

1021x1020+1  (x+Dz+1  24z+1
=2—1=1020—1=1019

09 19

'ty =2 () Fy (P + )
=(x'+y") (z+y)
={(z+y)"—3xy(z+y)} (z+y)
={(=1)"=3x(=6)x(—1)} x(—1)
=(—1-18)x(—1)
=19

10 & 3

A+ +c*—3abc=(a+b+c) (@ +b*+c*—ab—bc—ca)
old|, a+b+c=00]BF2

@' +b*+c*—3abc=0

S a0+ c*=3abc

. a+b+c* _ 3abe

abc  abc =3

11 & 30

a°ll tiste] WAoo = Aeshd
cb*—cd*+bc*—ba’+ac*—ab’
—(c+b)a’+ (c+b)(c—b)a+chb(c+b)
(b+c){—a’+ (c—b)a+cb}
(b+c)(—a+c)(a+b)
(b+c)(c—a)(a+bd)

5X2x3=30

12 2 a=bQl oS4z
a, b, cO AT BT goma

a°ll tiste] WAz o g Aejstd
(b+c)d’—(b*—c*)a—bc*—cb’
=(b+c)a’—(b+c)(b—c)a—be(b+c)
=(b+c){a’—(b—c)a—bc}
=(b+c)(a—b)(a+c)=0

a, b, c= AZF O Al He] dolz ggeolnL
b+c¢>0, a+c>00|B2 a—b=0
w2hA] ¢=5%1 o5z ot

13 . a=b=cQl HArzZI5

@' +0*+c*=3abcVA @’ +b*+c*—3abc=0
A3l FAloll &Jsted

(a+b+e) @+ +c—ab—bc—ca)=0
A2 o Al H9] oo T2 Fepolug
a+b+c>00]t},

S @D+ F—ab—be—ca=0




a4+ b+ c*—ab—bc—ca
:%( 2a°+2b°+2¢"—2ab—2bc —2ca)

=2 {(a—b)*+(b—c)*+(c—a)*} =0
o|m 2 g=p=colt},
w2kA] a=b=c<l 4z olct,
14 (=) siiHe| Zo|7t cQl 2iZtaizt
a, b, ¢ F A7 7P 22 coll Histe] Aest
&'+ ab’—ac*+b*+ba*—bc*
=—ca+b)+a’+b+ab*+bd’
=—cMa+b)+(a+b)(d—ab+b*)+ab(a+bd)
(a+b)(—c+a—ab+b*+ab)
(a+b)(&+b°—c")=0
HZhg o) = Ho) Zof g, b9 T2 0
LAY —=0= =
uj2bx] Bl Q] Zo|7} ¢l Az o)t
15 & (1) 2Rt () 23 34

@)D a=b,b=c @a=b=c @ a’+b’=c’

ue)

N

|22 g+b>00]c},

Jat

(S oiel oteal Bt 23-001 £

01 @6
Da—d+ac—cd=a—d+cla—d)=(a—d)(1+c)

® 94°—6a+1=(3a)"—2x3ax1+1°=(3a—1)

@ 4a°—12ab+9b*=(2a)’—2 X 2a x 3b+ (3b)’=(2a—3b)*
@ 2"—22x—8=(x—4)(x+2)

02 @a

L+ xy—x—y=x(’—1)+y(—1)=(x+y)("—1)
=(z+y)(x—1)(x+1)

olBZ Q= xty, x—1, x+1 50|t}

[CHE £ol]

yoll tisto] WAooz Aejshd

(= Dy+2'—x=(—y+z(—1)=(2"—1)(y+x)

=(z+1)(xz—1)(z+y)

o8& Ol x4y, x—1, x+1 SOt}
03 @
Z+4y"—9+dxy=(r+2y)°—9=(x+2y+3)(x+2y—3)

=(x+ay+3)(x+2y+0b)
o|lug =2 b=—3
Soatb=2—3=—

52 my sy

04Ei@

2 —y'=(z'+y") (z'—y")
(:chy)(:c2 ) (=)
=(2'+y") (" +y") (x+y) (2 —y)

Heh @ 2y 2'— ') A4} ohet,

05 @@

—5xy+4y’+x+2y—2=(ax—y+b)(x—cy—d)

o|B 2 FPHS 4EasH] 3l xoll tiste] WAoo =

sk

@EH)=2"—(5y—1)z+2(2/ +y—1)
=2'—(5y—1)z+2(y+1)(2y—1)
={r—(y+D)Hz—2(2y—1)}
=(x—y—1)(z—dy+2)
=(ax—y+b)(x—cy—d)

o|lBnR g=1,b=—1,c=4,d=—2

Soatbtcetd=2

06 @@
a*—3a°b+3ab’—b'=(a—0b)%| B2
a=3x, b=2y=} shA

271 —54x"y+ 362" — 8y = (3x—2y)*

07 @0

82’ +ax’+150x+b=(cx+5)"°| B2 1A 1°9) A+E

WA v wshH c=20]c},

(2245)*=8x"+3 x 42’ X 5+ 3 x 22 X 5°+5°
=8x°+60x"+ 1502+ 125

o|EZ =60, b=125

Sb—a—c=125—60—2=63

08 @@

82 +y'=(2x)*+y’
=(2z+y){(2x)'—2x xy+y*}
=(2x+y) (42— 2xy+y°)

09 @

A+0°=(a+b)(d’—ab+b*)o|E&2
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